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Name: Kopfrechnen 02.12.2018

Kopfrechnen

1 Berechne!

20 : 4 = 

788 - 159 = 

28 : 7 = 

673 - 127 = 

42 : 6 = 

212 + 512 = 

246 + 595 = 

4 · 4 = 

8 · 8 = 

125 + 305 = 

5 · 7 = 

506 - 577 = 

4 · 8 = 

5 · 8 = 

232 + 153 = 

76 + 409 = 

956 - 447 = 

63 : 9 = 

40 : 5 = 

10 · 4 = 

81 : 9 = 

3 · 7 = 

520 + 499 = 

391 + 500 = 

148 + 461 = 

3 · 5 = 

60 : 10 = 

2 · 4 = 

906 - 553 = 

585 - 361 = 

2 Timo kauft 8 kg Äpfel. Für 1 kg muss er 4€ bezahlen.
Wie viel muss Timo bezahlen?

Antwort:

Mathematik  


